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Unit 2: Linear Functions STUDY GUIDE

1.) Select the relation that does not represent a
function.

A(18,11), (~14,9),(-11,5), (2, -7)
B. (5,3),(~3,9), (12,—11), (4, -3),
(:9 (5,~3),(0,~1),(9,2), (5,~7)

D. (—2,10),(~3,7), (14,2), (3, -8)

Repeoti o % ~vales
Make 14 NOT o~
o nchion

'2.) The table below displays the amount of gas
used and the miles driven in a truck.

- {gallons) 1"

o (e T ey
6

C. 13 gallons

D. 11 gallons

What is the average mﬂés driven Trom 4 gﬁllons to
7 gallons?
A. 7 gallons

/| Numbersof | CostatSecond
,, | Moclsths | §t§“§’u‘| Lo
2.4 - 2.2 N
2 ‘g 4 $3.46 76%
o & p roym 706
24 3 oo V%

STATION 4. \

3.) Leonard compared the cost of purchasing a gallon of gas at two different gas stations.

The function C(x) = 0.07x + 3.25 models the average cost of a gallon of gas at the first gas station after x
months. The table below shows the average cost of a gallon of gas at the second gas station after different
numbers of months. Which statement is true about the two gas stations?

A. The first station had a higher initial price per gallon
and increased at a greater amount per month than the
second station.

B. The second station had a higher initial price per
gallon and increased at a greater amount per month
than the first station.

C. The first station had a higher initial price per gallon |
but increased at a smaller amount per month than the
second station

The second station had a higher initial price per

gallon but increased at a smaller amount per month
than the first station.

[

Cl)=z 0.07% +3.25
inthal price § 3.25

\Nerease pes

T STATION 2

inikal Price $3.34

InCrease pes
month $ ©.03%




4.) Which equation is represented by the graph?

2x+y=3

D. Zx—y = -3

A 2x—y=3

C. 2x4+y=-3

%%
+zx. 2%

AX*FY =35

5.) An ordered pair is missing from the table below.

x fx)

’ _‘1 10 \_a
y; 1 8 J f
p 3 6 { L
£ 5 4 7-‘

? ? i

Write an ordered pair that would prevent the relation
in the table from being a function.
2 (h |25

6.) The function f(x) = 4x + 12 models the
yearly membershlp cost for a movie rental club,
where x is the number of movies rented. a

10%

+ Last year, Sarah rented 24 movies. 4 ('2,L|5+ 4
o Last year, Tim rented tw1ce the ammﬂt of

movies as Sarah. 4(.'4 2 209

How much more did ay last year than Sarah?
204-108 = ‘iﬁ 9\

7.) What is the domain of the graph shown below?

X-value B |

¥

B.-2 <y<4

‘A

-y
|
(A %]
1A
R N
1A 4
A e
IR

C. -3

IA
IA

x<1 D. -3<sy<1

8.} A sequence is shown below.
32,26, 20,3,
{4

Which explicit formula can be used to determine
the nth term in the sequence?

Aa, =6n+32 B.a, =6n+ 38

(D-a,=-6n+38))

O = -ln-N432
= Nk +32,
d=-l = - pn+38

Ca,=—-6n+32

m:-’(@"’s .-"'q ..—_3_ 3

—rerEE e gy o A.y:——x+3
b 2 2

2+4

L

W-3=-2 X -b

9.) Which is the equation of the line that passes through the points (—4, 3) and (2, —6)?

C.y=%x+3

v3 “ 13
Yy =-32z2x-3

T ] m=-2

__ b=3
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10.)

pound bag of popcorn costs @@Assummg the Cost
of popcorn follows a linear trefd; ow much would a@
pound bag of popcorn cost?

. Which table of values represents a linear function? >< '
x | fx) x f(x) x f(x) N
3| 27 5 8 3 | % | =
( 4 s % ACS A - D2
-2 4.25 . 8 23 >5 4 13 7 ' -5 10
- " — -2 1
\ -1 6 s ;9 28 by "5 13 ‘ B 7 2158
Ny oe | o N : : |
| i (R P — a o 7 l.mass |
5 2 ®
PN
M= ®
11.) pound bag of popcorn cost Gm-p and g 12.) Write the equation of the line graphed below.

h

-1

N

A
w¥

(4,7) y =7z 1.95(% -4)
(9,15.75 \,..'1- ISR =T
| +1
15.75 -1
e = 1,78 \[ =1.75Y
Q-4 N=\-715(3) Y485.25

3

13.) Ashtyn is saving the same amount of money each
week from babysitting. After 3 weeks, she saves $105.
After 5 wecks, she saves $165. Which equation models

the amount of money Ashtyn will have saved , after x | is an equation of the function?
weeks? (3 ‘053 (5 15 -lbs_j"o y=-u=3( K"(D’
5-3 _1 11‘1“3 o —
Ay—30x+45 ¢y = 60x — 20 Afx)=3x+5 _+i\ Qx) 3x—7 )
\:-ios 20(x’~ 3) VY= ax-
Y =105 30%~
Dy—30x+15 oS .y = 60x + 45 B. f(x)——x——g D.f(x) =3x+7
N =30X415

14.) The graph of a linear function passes through
the points (6,11) and has a slope of m = 3. Which

15.) Write the equation of a line with a slope of —3 that

16.) What explicit equation represents the pattern
in the table below?

B.y=—-%x+3

passes through the point (0, —7). ” y

mz=-3 b=-7 A y-incpt 4 18 L

Ay=-7x~3 B.y=7x-3 13._‘5 31 _% ;?'Z m"‘:l-% |
sl I s P2 3

Cy=-3x+7 A.y=§x+2 C.y=3x+9




17.) Jamie earns income through tips and a weekly
salary. Her average weckly income can
éproximated by the function|

STOIe
hich statement is true?

Aamie earns an average of $10.00 in tips per
customer she serves and is paid a weekly salary of

$§50.

B. Jamie serves an average of 10 customers per week
and is paid a weekly salary of $150.

C. Jamie serves an average of 10 customers per week
and earns $150 in tips each week.

D. Jamie earns an average of $10.00 per week and
earns $150 in tips each week.

18.) Use the sequence —Z,/—?bl, 3, .

. to complete
the following exercises: #4 ¢4 #4 -

A. Write th licit f la: a=4
. Write the explicit formula: Q, =_,'7
An = "I(.h"h"—'
= 4n-4-1
An = Y =1

B. Write the recursive formula:

ah"-’-'ah'i"""

C
. Find aq14.

Qg = Y () =1\
Qy= 4s

L

19.) Find the rapge from the graph below.
Y- VO\\U{; 4

£
| noofs_éod

1 Al real
NnombheCs

e
£

20.) What is the approximate rate of change for
f(x) = 6x — 5 for the interval—2 < x < 4?

PLDz (-D-5=-171 (-2~
C Oz eW)-S =11 (4]

19417 _ 3k _ |
93z " T l@

7
)

——

21.) The functionlC (x) = 25x + 99 Imodels the‘total cost]
for a carpet cleaning company to clean a house, where
@Mt takes to clean the carpet. What is
e average rate of change between 2 hours and 8
hours?

C() = 25(DH+99 - 19 (z'qu\
cl9)= 25()+99 3299 (8,299)

299-149 _\50

== 2
B -2 b >

22.) Kaylee works at a car dealership where she

earng$300each week int

(weeklysales! Write and solve a linear equation to
dgtermine what Kaylee would earn if she sold

orth of cars this week - K S

Mm=0.05 b=300 -
W= 0.05X 1300

Y= 0.05(126,000) +300

Yy :} (p,'baoj

2o

5]
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2'3.) The functionjg(x) = 20x + 100}model the balance
of Liz’s savings account afterfx weeks)What is the
meaning of the slope in the function?

A. The initial amount Liz starts with at the
_ beginning of each year.
B. The initial amount in Liz’s bank account.

C. The additional amount Liz saves each month,

The additional amount Liz saves each yeaw

24.) The total cost, in dollars, of membership in a
basketball league is given by the functionf(m) =
35m + 60 lwherdﬁs the[number of monthsja
person is a member. In doliars, how much 1s the

cost of 2 membership for Tyeas?
12 morth

35(12)4 0
| & 430\

25.) Water is being pumped into a 10-foot tall
cylindrical tank at a constant rate.

* The first store charges a($12Yyer month M=

of the nth term in a sequence. What is the sum of the 15t
and 4 terms of the sequence?

a(D= 2()42 =5
o (d)z W42 = 1Y

S 14

‘ﬂ"
Lol |

g(x) = 16.90 — 1.32x
What is the value of g(17)?
.90~ 132017
.90 - 22.44

FS.Sq

* The depth of the water is increasing linearly, membership fee W"%‘)M 312
e At thg water depth was 2.4 feet. rented.
.-"h o Itis nowz=Se<pm, and the depth of the water is | * The second stgre 1o .
| 3 q) 3.9 feet. = 2422 (x-0) but charges(§4.508eT g =4.50
! 39-24_15.23 y.24: 15X . . =4.50K% b=0
S=Te “5E 5 2. Y f.?. y| What is the minimum number of movies a person
250 2. 3.5 would need to rent in a month for the first store to |-
What will the depth (in feet) of the water be at 56 be a better deal? STORE ‘ STORE
pm?_ ¢ ‘\:X ¥ =¥sXt2.4 “:-—]1 X% N
=Rl NI LT DA || 14.50] 1.5
27.) The following graph represents Karen’s marathon. q Wol's)
Karen's Marathon é \ Z ;ﬂ 13. 500
a0 g " ro— —— ‘ . o N
27 . .00{13.00
ol Lf _ g4 |22 !
21L ...... 5 124.50{22:50 |
2 7.
s ’ 12;:;8 '??gg’
% 12} Ai (p W PR I
§ ol (S e Scume
8 -1 2 3 4 5 &8 7 8 9 10 B D
Timea in Hours
During which interval d§‘1 Karen have the greatest rate of change? ‘ 3 iz _ 1Ja 1z |
Ao-2hours 90 - Q. B.1-3hours \Z =% . Z E:}g—4hours @-12 ¢ D.2-5hours 219312
0 Y- 2_'4'5 b 2 LY =3 12 g q-3 =b q 2 -2° 3,
28.) The function a(n) = 30+ 2 represents the value 29.) A function is shown below. ot 1 ‘




30.) What is the slope of the line that fits this table?

X
-2
24—
2 & 2
44—
46
."| 10

m= &2 2
Y 2 4
-3 .
3 Y [M=2 |
g P b o
TR G
3 P2

a, =7

ap =du_q1— 1.5

Cl"-'-'»_? d=-\'6
,5.5 4,25

32.) Given the function f(x) = 3x — 6 and the graph
of the function g(x) below, determine the greatest X-

intercept. £z 3%~k
0 3&"‘%
% >
_x=2
(2.

D. (0,—3)

5)




